
In vigore dal - Effective from    15-12-202124

POGGIAPIEDI
FOOTREST

K

L

H

J

I

B
G

F E

L

J

K

A

C

D

Tav. 11



Rif. Cod. FOOTREST ￥

11 Description Tax  included
 A 0010.00BKIT OTK ﾌｯﾄｻﾎﾟｰﾄ ALU/COMP Adjustable AL footrest complete with support 32,560
 B 0010.00B1 ﾌｯﾄｻﾎﾟｰﾄ ALU/CADET Adjustable AL footrest 9,350
C 0010.00BB2 ｻﾎﾟｰﾄﾌｯﾄｻﾎﾟｰﾄ/CADET Support footrest 14,960
D 0010.00B ﾌｯﾄｻﾎﾟｰﾄ ALU/ONLY Adjustable AL footrest 12,760
E 0010.00B3 ﾌｯﾄｻﾎﾟｰﾄｽﾍﾟｰｻｰ 10mm Spacer 10 mm 1,540
F 0010.00B4 ﾌｯﾄｻﾎﾟｰﾄｽﾍﾟｰｻｰ 5mm Spacer 5 mm 1,320
G V.TCE6X45 ｷｬｯﾌﾟﾎﾞﾙﾄ 6X45 TCEI screw 6x45 mm 66
H 0121.00  Tappo pedale Ø 12 mm Rosso Pedal plug Ø 12 mm Red 88
H 0121.00N  Tappo pedale Ø 12 mm Nero Pedal plug Ø 12 mm Black 88
I 0010.00B2 ｻﾎﾟｰﾄﾌｯﾄｻﾎﾟｰﾄ/OK-KZ Support for adjustable footrest 8,030
J V.TCE6X25 ｷｬｯﾌﾟﾎﾞﾙﾄ 6X25 TCEI screw 6x25 mm 44
K R.P.6X12 ﾜｯｼｬｰ D.6x12 Washer Ø 6,3x12,5x1 mm 22
L D.M6A.B. ｾﾙﾌﾛｯｸﾅｯﾄM6 (ﾅｲﾛﾝ) A.B. nut M6 22


